95. Trade liberalisation
1. Missing words:

Trade liberalisation refers to the process of reducing trade barriers throughout the world so that countries are able to enjoy the benefits of __________________ trade.  Economic theory suggests that world output will increase if countries specialise in producing goods in which they have a comparative advantage, i.e. those that they are most                           ____________________, or least _____________________________ at producing.  In theory, free trade not only leads to cheaper goods and wider _____________________, but also encourages more efficient use of resources and provides firms with incentives to ________________________________.  Global recession is the enemy of trade liberalization, as national governments feel pressured to adopt _____________________ measures.          Hint from: protectionist, choice, efficient, free, inefficient, innovate,
2. Key terms. Which key terms are being described by the definitions below?
2.1 Two or more countries who have agreed to abolish all barriers and trade freely with each other, but retain the power to set their own level of tariffs etc. against non-members:  ____________ ___________ ___________

2.2 When subsidies are used to reduce the price of exported goods below their cost price in order to encourage their sale in foreign markets:



      __________________

2.3 A range of measures which are less transparent than customs duties but still effective in discouraging imports:








      ___________ ___________ ____________

3. Trade liberalisation 3 – 2 – 1:

3.1 Identify three benefits to consumers from free trade: 
______________________________________________________________________________________
3.2 Identify two potential drawbacks of free trade for developing countries:

______________________________________________________________________________________

3.3 Identify one example of a non-tariff barrier:

______________________________________________________________________________________

4. Data response:


4.1 Suggest two reasons why the adoption of protectionist policies may result in increased unemployment within an economy:
______________________________________________________________________________________
______________________________________________________________________________________
4.2 Outline two possible effects of China’s decision to join the WTO in 2001:
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
95. ANSWERS – trade liberalisation
1. free … efficient … inefficient … choice … innovate … protectionist
2.1 Free trade area

2.2 Dumping

2.3 Non tariff barriers

3.1 Suggestions include – lower prices; greater choice of products; improved quality; more frequent innovations;

3.2 Exploitation of workers and natural resources by firms from developed economies; dumping of exported goods, destroying local industries; may be forced to concentrate on the production of low-value agricultural products and basic commodities due to a lack of investment funds.
3.3 Regulations insisting that all meat products should be halal
4.1 Retaliation by other countries leading to a fall in demand for firms producing exports; may reduce ability to compete in foreign markets, leading to a fall in demand.

4.2 Increased opportunities to export goods to China, boosting sales for some firms; increase in level of imports of Chinese goods, creating competition in domestic markets.

A brief history of world trade liberalisation


The World Trade Organisation (WTO) was established in 1995, the successor to the hugely successful GATT, which led the path to trade liberalization from 1945-1995. The WTO has 153 members that together account for over 97% of world trade. The biggest achievement of the WTO has been to successfully incorporate China, which joined in 2001. The WTO’s role is to encourage the flow of free trade by providing a forum for countries to negotiate trade agreements, reduce trade barriers and resolve trade disputes. However, the WTO has also been heavily criticized for appearing to favour the bigger economies of the west – and for showing too little interest in the environment. From 2010 onwards the biggest threat to the WTO has come from regional trade agreements such as the Trans Pacific Partnership between America and Pacific countries such as Japan and Australia. Global free trade is preferable to regional trading blocs that act to exclude exports from outside the member countries.                                                                  				Source: WTO
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